

NOTA DE FÍSICA

VOLUME XX

Nº 16

ON ALGEBRAICALLY SPECIAL METRICS

by

I. Damião Soares

CENTRO BRASILEIRO DE PESQUISAS FÍSICAS
Av. Wenceslau Braz, 71 - Botafogo - ZC-82
RIO DE JANEIRO, BRAZIL

1973

ON ALGEBRAICALLY SPECIAL METRICS

I. Damião Soares

*Centro Brasileiro de Pesquisas Físicas
Rio de Janeiro, Brazil*(Received 10th September 1973)

ABSTRACT

Classes of algebraically special Einstein's geometries are examined, associated to a congruence of null geodesics, hypersurface orthogonal. Writing field equations in a null frame² adapted to the congruence, we make explicit the role of null rotations of the frame in generating new solutions (or in eliminating them). A simple case is treated as an example.

We have considered solutions of Einstein's vacuum field equations in which the metric has the form¹

$$\tilde{g}_{\mu\nu} = g_{\mu\nu} - 2m k_{\mu} k_{\nu} \quad (1)$$

where $g_{\mu\nu}$ is itself a solution of the vacuum field equations $R_{\mu\nu} = 0$, m is an arbitrary constant and k_{μ} is a null vector field with respect to $g_{\mu\nu}$, hypersurface orthogonal:

$$k_{[\mu} k_{\nu]; \rho] = 0 \quad (2)$$

Equation (2) is a necessary and sufficient condition for

$$k_{\mu} = \lambda(x) \phi_{, \mu} \quad (3)$$

where $\phi(x) = \text{cte}$ is a null hypersurface in the space-time equipped with the metric $g_{\mu\nu}$ and λ is a scalar function. The inverse of $\tilde{g}_{\mu\nu}$ is

$$\tilde{g}^{\mu\nu} = g^{\mu\nu} + 2m k^{\mu} k^{\nu} \quad (4)$$

(the index of k^{μ} is raised with $g^{\mu\nu}$).

The Ricci tensor $\tilde{R}_{\mu\nu}$ constructed with (1) is a polynomial of the fourth order in m , and since m is an arbitrary constant

$$\tilde{R}_{\mu\nu} = R_{\mu\nu} + 2m A_{\mu\nu} + 4m^2 B_{\mu\nu} + m^3 C_{\mu\nu} + m^4 D_{\mu\nu} = 0 \quad (5)$$

implies that each coefficient of the polynomial must vanish separately. The condition $D_{\mu\nu} = 0$ is automatically satisfied because k_{μ} is a null vector;

the condition $C_{\mu\nu} = 0$ implies that k_μ defines a congruence of null geodesics

$$k_{\mu;\alpha} k^\alpha = H k_\mu \quad (6)$$

where H is a scalar function. From (3), (6) and from the fact that $k_\mu k^\mu = 0$ we get

$$H = \frac{\lambda_{,\alpha} k^\alpha}{\lambda} \quad (7)$$

By using (6), $B_{\mu\nu} = 0$ yields

$$(H_{,\alpha} k^\alpha + k^\alpha{}_{;\alpha} H) k_\mu k_\nu = 0 \quad (8)$$

and from $A_{\mu\nu} = 0$ we get

$$R_{\alpha\beta\rho\nu} k^\alpha k^\rho + A_{\beta\nu}^{(1)} = 0 \quad (9)$$

where

$$\begin{aligned} A_{\beta\nu}^{(1)} = & -k_{\alpha;\beta} k^{\alpha;\nu} + (k_{\nu;\beta} + k_{\beta;\nu}) k^{\alpha;\alpha} + H k_{\beta;\nu} - H \frac{\lambda_{,\nu} k_\beta}{\lambda} + \\ & + k^\alpha (\phi_{,\nu} \lambda_{,\beta} + \phi_{,\beta} \lambda_{,\nu})_{;\alpha} - \lambda k^{\alpha;\alpha} (\phi_{,\nu})_{;\beta} + \\ & - (\phi_{,\nu} \lambda^{,\alpha} k_\beta)_{;\alpha} \end{aligned} \quad (10)$$

Let us consider now a local null frame - a quasi orthonormal complex

basis² for vectors in space-time adapted to the congruence k^α , namely

$$(k^\alpha, \ell^\alpha, m^\alpha, \bar{m}^\alpha) \quad (11)$$

where the only non-zero scalar products of basis vectors are

$$k_\mu \ell^\mu = 1, \quad m_\mu \bar{m}^\mu = -1 \quad (12)$$

We can expand $k_{\mu;\nu}$ in this basis

$$\begin{aligned} k_{\mu;\nu} = & \theta k_\mu k_\nu - \gamma k_\mu m_\nu - \bar{\gamma} k_\mu \bar{m}_\nu - \delta m_\mu k_\nu + \\ & + \bar{\sigma} m_\mu m_\nu + \rho m_\mu \bar{m}_\nu - \delta \bar{m}_\mu k_\nu + \sigma \bar{m}_\mu m_\nu + \sigma \bar{m}_\mu \bar{m}_\nu + H k_\mu \ell_\nu \end{aligned} \quad (13)$$

In particular we note that

$$k^\alpha{}_{;\alpha} = -2\rho + H \quad (14)$$

and from (3) it follows

$$\bar{\gamma} - \delta = \frac{\lambda_{,\alpha} m^\alpha}{\lambda} \quad (15)$$

Contracting equations (7) and (9) with the various pairs of (11) and using (14) and (15) we obtain (apart from some trivial equations) the set of independent equations

$$H_{;\alpha} k^\alpha + k^\alpha{}_{;\alpha} H = 0 \quad (16a)$$

$$|\sigma|^2 - \rho^2 + 2\rho H = 0 \quad (16b)$$

$$R_{\alpha\beta\rho\nu} k^\alpha k^\rho m^\beta m^\nu + 2H\sigma = 0 \quad (16c)$$

$$R_{\rho\beta\alpha\nu} k^\rho k^\alpha \ell^\beta \ell^\nu - 2\rho\left(\theta - \frac{\lambda_{,\beta} \ell^\beta}{\lambda}\right) - 2H\theta - \frac{\lambda^{,\alpha}{}_{;\alpha}}{\lambda} +$$

$$+ \frac{\lambda^{,\alpha} \ell^\alpha}{\lambda} H + 2H_{,\beta} \ell^\beta + \frac{\lambda^{,\alpha} \lambda^{,\alpha}}{\lambda^2} + 4|\gamma|^2 - 2|\delta|^2 = 0 \quad (16d)$$

$$R_{\rho\beta\alpha\nu} k^\alpha k^\rho \ell^\beta m^\nu + \bar{\gamma}(H + \rho) + H_{,\nu} m^\nu - 2\rho \delta + \sigma\gamma = 0 \quad (16e)$$

which are equivalent to

$$\tilde{R}_{\mu\nu} = 0 \quad (17)$$

Since we can parametrize the congruence such that in (5) $H = 0$, we have by (16c) that, in this case, k^α must be a Debever-Penrose vector concerning $g_{\mu\nu}^*$.

If $\lambda = 1$ then $H = 0$,

$$\tilde{g}_{\mu\nu} = g_{\mu\nu} - 2m \phi_{,\mu} \phi_{,\nu} \quad (18)$$

* This can be more easily seen by considering the spinorial expression of basis (11) and writing $R_{\rho\beta\alpha\nu}$ in Penrose's spinorial formalism².

and equations (16) reduce to

$$|\sigma|^2 = \rho^2$$

$$R_{\rho\beta\alpha\nu} k^\rho k^\alpha \ell^\beta \ell^\nu + 2|\delta|^2 - 2\rho\theta = 0 \quad (19)$$

$$R_{\rho\beta\alpha\nu} k^\rho k^\alpha \ell^\beta m^\nu + \rho\bar{\gamma} - 2\rho\delta + \sigma\gamma = 0$$

In this case the curvature tensor becomes

$$\tilde{R}^\alpha_{\beta\mu\nu} = R^\alpha_{\beta\mu\nu} + 2m(k_{\beta;\nu} k^\alpha_{;\mu} - k_{\mu;\beta} k^\alpha_{;\nu} + k_\rho k^\alpha R^\rho_{\beta\mu\nu})$$

This expression shows that $\tilde{g}_{\mu\nu}$ is algebraically special if and only if $g_{\mu\nu}$ is*. Besides, let us calculate the curvature scalar $\tilde{R}^2 = \tilde{R}^\alpha_{\beta\mu\nu} \tilde{R}^{\beta\mu\nu}_\alpha$ where indices are raised and lowered with $\tilde{g}^{\mu\nu}$ and $\tilde{g}_{\mu\nu}$ respectively. We obtain

$$\tilde{R}^2 = R^2 \quad (20)$$

if and only if $\sigma = 0$. So if $\lambda = 1$ and $g_{\mu\nu}$ is algebraically special ($\sigma = 0$)³, (18) can be absorbed by a coordinate transformation on $g_{\mu\nu}$.

Let us investigate now the behaviour of equations (16) under a local null rotation²

$$k^\alpha \rightarrow Ak^\alpha \quad (21)$$

* This can be more easily seen by considering the spinorial expression of basos (11) and writing $R_{\rho\beta\alpha\nu}$ in Penrose's spinorial formalism.

$$m^\alpha \rightarrow e^{ic} (m^\alpha - A \bar{B} k^\alpha) \quad (21)$$

$$\ell^\alpha \rightarrow A^{-1} \ell^\alpha - B m^\alpha - \bar{B} \bar{m}^\alpha - A B \bar{B} k^\alpha$$

where A, C are real, $A > 0$ and B complex. We restrict ourselves to the case $A = \text{cte.}$ Under (21) the parameters of expansion (13) transform as

$$\theta \rightarrow A^{-1} \theta - (B \bar{\gamma} + \bar{B} \gamma) - A B \bar{B} H + 2 A B \bar{B} \rho - (B \delta + \bar{B} \bar{\delta}) + (A \bar{B}^2 \bar{\sigma} + A B^2 \sigma)$$

$$\bar{\gamma} \rightarrow e^{ic} (\bar{\gamma} - A \bar{B} H - A B \sigma - A \bar{B} \rho)$$

$$\delta \rightarrow e^{ic} (\delta - A B \sigma - A \bar{B} \rho)$$

$$\sigma \rightarrow e^{2ic} A \sigma \quad (22)$$

$$\rho \rightarrow A \rho$$

$$H \rightarrow A H$$

and accordingly equations (16): equations (16a), (16b) and (16c) are invariant under (21) and (22), but the last two equations turn into a linear combination of (16) plus some terms added. For instance (16e) goes into

$$e^{ic} \left[A \{16e\} - A^2 B \{16c\} - A^2 \bar{B} \{16b\} - A^2 \bar{B} \{16a\} - \right. \\ \left. - 2A^2 \bar{B} \rho H \right] = 0 \quad (23)$$

which is not invariant because of the last term. If we consider equation (16d)

more carefully we can see that it contains two terms which are invariant under (21), (22), namely

$$-\frac{\square^2 \lambda^2}{\lambda} + \frac{\lambda_{,\alpha} \lambda^{,\alpha}}{\lambda^2} \quad \text{where } \square \lambda \equiv \lambda^{,\alpha}_{;\alpha} \quad (24)$$

and (16d) can be written

$$\frac{\square^2 \lambda}{\lambda} - \frac{\lambda_{,\alpha} \lambda^{,\alpha}}{\lambda^2} - T = 0 \quad (25)$$

where T is a scalar function which transforms under (21), (22) as

$$\begin{aligned} T \rightarrow T - 2AB \{ \overline{16e} \} - AB \left[2\sigma(\gamma - \bar{\delta}) + 2\rho(\bar{\gamma} - \delta) + H(\bar{\gamma} - 3\delta) \right] + \\ - 2A\bar{B} \{ \overline{16e} \} - A\bar{B} \left[2\bar{\sigma}(\bar{\gamma} - \delta) + 2\rho(\gamma - \bar{\delta}) + H(\gamma - 3\bar{\delta}) \right] + \\ + A^2 B^2 \{ 16c \} + A^2 \bar{B}^2 \{ \overline{16c} \} - 2A^2 B\bar{B} \{ 16a \} + 2A^2 \bar{B}B \{ 16b \} + \\ + 2A^2 \bar{B}\bar{B} (\rho^2 - 2\rho H + 6H^2) \end{aligned} \quad (26)$$

For the case

$$\sigma = H = 0 \quad (27)$$

field equations imply $\rho = 0$ and we have by (23) that (16e) is invariant and hence, by (26), (16d) or (25) is invariant. And T assumes the form

$$T = R_{\alpha\beta\rho\nu} k^\rho k^\alpha \ell^\beta \ell^\nu + 4|\gamma|^2 - 2|\delta|^2$$

for $\sigma = H = 0$.

But if (27) does not hold we are faced with a problem: what role does a null rotation play in the space of solutions of $\tilde{R}_{\mu\nu} = 0$ and what does the non-invariance of equations (16d), (16e) mean in terms of solutions? We argue that null rotations generate new solutions of $\tilde{R}_{\mu\nu} = 0$, i.e., for each different basis (11) we must have a new class of solutions (1) of (17). To see this we shall treat a simple case.

We consider the case $g_{\mu\nu}$ flat and the 3-dimensional null hypersurface in Minkowski Space as the future light-cone

$$\phi = x^0 - r = \text{cte} \quad (28)$$

where $r^2 = x^2 + y^2 + z^2$. This implies

$$\phi_{,\alpha} = \left(1, -\frac{x}{r}, -\frac{y}{r}, -\frac{z}{r} \right) \quad (29)$$

and

$$k_{\mu;\nu} = \lambda_{,\nu} \phi_{,\mu} + \lambda \phi_{,\mu\nu}$$

Adapted to the congruence $k_{\alpha} = \lambda \phi_{,\alpha}$ we construct the null frame

$$\begin{aligned} k_{\alpha} &= \lambda (1, -x/r, -y/r, -z/r) \\ \ell_{\alpha} &= \frac{1}{\lambda} \left(\frac{1}{1 - z^2/r^2}, \frac{\cos \theta}{\sqrt{1 - z^2/r^2}}, \frac{\sin \theta}{\sqrt{1 - z^2/r^2}}, \frac{-z/r}{1 - z^2/r^2} \right) \end{aligned} \quad (30)$$

$$m_\alpha = \frac{e^{2i\theta}}{\sqrt{2}} \left(\frac{z/r}{\sqrt{1 - z^2/r^2}}, i \sin \theta, -i \cos \theta, -\frac{1}{\sqrt{1 - z^2/r^2}} \right), \quad (30)$$

in Cartesian coordinates, where $\cos \theta = \frac{x}{\sqrt{x^2 + y^2}}$, $\sin \theta = \frac{y}{\sqrt{x^2 + y^2}}$. Clearly

(30) satisfies (12) and this basis is uniquely defined up to a local null rotation. The parameters of expansion (13) are calculated to be

$$\begin{aligned} \theta &= \frac{\lambda_{,\alpha} \ell^\alpha}{\lambda} + \theta_0 \\ \bar{\gamma} &= \frac{\lambda_{,\alpha} m^\alpha}{\lambda} + \delta \\ \theta_0 &= \frac{1}{2\lambda r} \frac{1}{(1 - z^2/r^2)^2} \end{aligned} \quad (31)$$

$$\delta = -\frac{e^{2i\theta}}{\sqrt{2}} \frac{z^2/r^2}{\sqrt{1 - z^2/r^2}}$$

$$\rho = -\frac{\lambda}{r}$$

$$\sigma = 0$$

where we make use of (29) and (30). Equations (16) become

$$H_{,\alpha} k^\alpha - 2\rho H + H^2 = 0 \quad (32a)$$

$$\rho = 2H \quad (32b)$$

$$\frac{\square^2 \lambda}{\lambda} - \frac{\lambda_{,\alpha} \lambda'^{\alpha}}{\lambda^2} - T_0 = 0 \quad (32c)$$

$$H_{,\nu} m^\nu + H(3\bar{\gamma} - 2\delta) = 0 \quad (32d)$$

where

$$T_o = -2\rho\left(\theta - \frac{\lambda_{,\alpha} \ell^\alpha}{\lambda}\right) - 2H\theta + \frac{\lambda_{,\alpha} \ell^\alpha}{\lambda} H + 2H_{,\beta} \ell^\beta + 4|\gamma|^2 - 2|\delta|^2$$

At this point we must note that the parametrization of the congruence cannot be arbitrarily chosen. For instance, if we take an affine parameter ($H = 0$), using (7) and (30) we have

$$\frac{\partial \lambda}{\partial x^0} + \frac{\partial \lambda}{\partial r} = 0$$

and hence $\lambda = \lambda(x^0 - r)$, which does not satisfy (32) since $\rho \neq 0$.

Under a local null rotation (by local we mean that B can be a function of coordinates)⁴ (32a) and (32b) are invariant, (32d) becomes

$$\{32d\} - 8 A \bar{B} H^2 = 0 \quad (33)$$

or

$$\{32d\} - A \bar{B} \{32b\} - A^2 \bar{B} \{32a\} - 4 A \bar{B} H^2 = 0 \quad (33')$$

since we can make use of (32a), (32b) at ease because they are invariant; and

$$\begin{aligned} T_o \rightarrow T_o - 20 A^2 \bar{B} H^2 - A B (5H\bar{\gamma} - 7H\delta) \\ - A \bar{B} (5H\gamma - 7H\bar{\delta}) \end{aligned} \quad (34)$$

(34)

(in obtaining (34) we have made use of (33).

Thus it is always possible to construct a local null rotation which makes (34) zero and so reduces the set (32) to the equations

$$H_{,\alpha} k^\alpha - 2\rho H + H^2 = 0$$

$$\rho = 2H$$

$$\square^2 \lambda - \frac{\lambda_{,\alpha} \lambda^{,\alpha}}{\lambda} = 0 \quad (35)$$

If we consider now $\lambda = \lambda(r)$ the last equation (35) gives a general solution

$$\lambda = r^{-n} \quad (36)$$

for any real n , up to a multiplicative constant. Using (7), (30) and (31) the first equation (35) gives

$$\frac{d^2 \lambda}{dr^2} + \frac{2}{r} \frac{d \lambda}{dr} + \frac{1}{\lambda} \left(\frac{d \lambda}{dr} \right)^2 = 0$$

and first integral is the second equation (35)

$$\frac{d \lambda}{dr} = - \frac{\lambda}{2r}$$

which restricts (36) to $n = \frac{1}{2}$. The solution

$$\lambda = r^{-1/2} \quad (37)$$

corresponds to a Schwarzschild metric

$$\tilde{g}_{\mu\nu} = \eta_{\mu\nu} - 2m\lambda^2 \phi_{,\mu} \phi_{,\nu} \quad (38)$$

where $\phi_{,\mu}$ is given by (29) and m is the mass of the source, and which can be put back into its well known form by an Eddington mapping⁵.

In general, for $\lambda = \lambda(x)$ the set (35) can be considered as a principal equation

$$\square^2 \lambda - \frac{\lambda_{,\alpha} \lambda^{,\alpha}}{\lambda} = 0$$

whose solutions are restricted by two equations.

$$H_{,\alpha} k^\alpha - 2\rho H + H^2 = 0$$

$$\rho = 2H$$

closely associated to the null congruence.

Solution (37) is not, by any way, a solution of equations (32) with $T_0 \neq 0$; conversely, equations (32) must have compatible solutions which are not solutions of (35).

Thus by a null rotation (21) we are able to generate and/or eliminate solutions of equations (16). We proved this in a very simple case making a rotation and obtaining the well-known Schwarzschild solution. We believe that not only does it work well in the simple example considered but it also

constitutes a method for treating more general cases and obtaining new solutions.

ACKNOWLEDGEMENT

The author is indebted to Dr. Colber de Oliveira for enlightening discussions and stimulating interest in this work.

REFERENCES

- (1) Notations and conventions: signature of $g_{\mu\nu}$ is -2; Greek indices range 0 - 3; a comma (,) denotes simple partial derivative and (;) denotes covariant derivative with respect to $g_{\mu\nu}$; (x^0, x, y, z) are Cartesian coordinates and $\eta_{\mu\nu} = (+, -, -, -)$ is the flat space metric; a bar denotes complex conjugation.
- (2) R.K.Sachs - Gravitational Radiation, in Relativity, Groups and Topology, ed. DeWitt (1964).
F.A.E.Pirani - Introduction to Gravitational Radiation Theory, in Lectures in General Relativity (Prentice Hall, 1965).
- (3) J.N.Goldberg and R.K.Sachs - Acta Physica Polonica 22, 13 (1962)
I.Robinson and A.Schild - J.Math.Phys. 4, 484 (1963).
- (4) Allowing for local null rotations of the null tetrad (11) means we have an internal affine connection (whose associated internal curvature tensor is zero), maintaining $g_{\mu\nu}$ flat and in Cartesian coordinates (cf. Colber de Oliveira - Lectures Notes on Relativity and Gravitation, CBPF 1971).
- (5) A.S. Eddington, Nature 113, 192 (1924).
J.L. Anderson, Principles of Relativity Physics, chapter (11); (Academic Press, 1967).

* * *